=b

ax+ 2y

D
@

-

Ul

a3



mx—6y=n




Ty =ax+b o] T zolt, o] 1L} ¢

EEESPERL DL PR

Sp

rol
=1



02 282y = (a+ Dx+b-12 IHZo|t}h. a+b 9 g
F-stoet.




5. ol Fapgel A ek A AT Fstol 14T)7) 9la, v o) S
387/t AP A L] =2

Os5d @6 O @8y G oy



_4

o | 5ol A W9t 5he Fstel % 20 kel E A% St glck. X
of theje} go) o] 45 Fohd B 58 Ajeka gk w9} o

[e]
~

@ A 7 ek, S 13 ek
@ A : g ute], & & 12 vt
® =A 2 9ukE], & : 11 vk
@ =47 : 10 v, & : 10 vt
® A : 111, & : 9 Oty



PRUNIiA
ro 3
.\3 Ug_lll

@ a<0,b<0

@ a>0 b<0

Fy=ax+b o It oh-g 1

e o, s F

yl
A\ >
O =
@ a<0,b>0 @ a>0,b>0
® ab<0

Mo



8. a<0,b<02d, dAEFy = ax+b o T 27} AHA] =

AHEH-2?
@ A 1AHREH @ Al 2AEH @ A 3AFEH

@ A A AFEH B 9}



x—2b°] I L7} = o] 274

1
2

Ty=ax+4%y




s,

k

_Tl'.é
S AL 2, 4 ARES

Sh
=1

o] 917}

o

@ 7



.

Ul



12, th 9] A4 ey
]L]-‘— 7\1/\-]_4 1—1 1%{7

@O y=2x+4

@ y=x-3

[e)

St (1,-2)

@ y=-2x-4

® y=x+3

yl\

By



13.

T A (3,7),(2,4)2 A%

Fatelet.

ftlo



4,0) =
P+ A 3.-7). (

7

de=

Praiiny

]

L

Sk

2



15. a=34 o, (a")@) = 30|t} x2] Gr2?

D 3 ® 9 3 27 @ 81 B 243



16.

32 =517 o), x©] 3k FotE?

D 1 ® 2 3 3



sfot

x—aiﬂ

_ X 3
oN’r——-1<——
H}Q <=5

_gq

3
—|—1<—?x—|—2x



g+394 6H7}3(?+1) > Bx—2
SHH?

3

Het 25 o, o o] &

9]

2ax+5
<_

94

22 23 31 33
- 9-- O0-- ®-2 O-F

21

D -



